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hEE (103800 —ROUNDDOWN(C4/$D$3,00  |=ROUNDDOWN(MOD($C4,D$3)/E$3,0) —ROUNDDOWN (MOD($C4,E$3)/F$3,0) —ROUNDDOWN (MOD($C4,F$3)/G$3,0)
M (449118 —ROUNDDOWN(C5/$D$3,0)  |=ROUNDDOWN(MOD($C5,D$3)/E$3,0) —ROUNDDOWN (MOD($C5,E$3)/F$3,0) —ROUNDDOWN (MOD($C5,F$3)/G$3,0)
dl 118927 —ROUNDDOWN(C6/$D$3,00  |=ROUNDDOWN(MOD($C6,D$3)/E$3,0) —ROUNDDOWN (MOD($C6,E$3)/F$3,0) —ROUNDDOWN (MOD($C6,F$3)/G$3,0)
#A (327283 —ROUNDDOWN(C7/$D$3,0)  |=ROUNDDOWN(MOD($C7,D$3)/E$3,0) —ROUNDDOWN(MOD($C7,E$3)/F$3,0) —ROUNDDOWN(MOD($C7,F$3)/G$3,0)
M [452195 —ROUNDDOWN(C8/$D$3,00  |=ROUNDDOWN(MOD($C8,D$3)/E$3,0) —ROUNDDOWN (MOD($C8,E$3)/F$3,0) —ROUNDDOWN (MOD($C8,F$3)/G$3,0)
W 393255 —ROUNDDOWN(C9/$D$3,0)  |=ROUNDDOWN(MOD($C9,D$3)/E$3,0) —ROUNDDOWN (MOD($C9,E$3)/F$3,0) —ROUNDDOWN (MOD($C9,F$3)/G$3,0)
##i [ =SUM(D4:D9) —SUM(E4:E9) =SUM(F4:F9) =SUM(G4:G9)
| &#t|=sum(ca:co) |=D10*D3 |=E10*E3 |=F10*F3 |=610"G3
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4 |[=ROUNDDOWN(MOD($C4,G$3)/H$3,0) —ROUNDDOWN (MOD($C4,H$3)/1$3,0) —ROUNDDOWN(MOD($C4,1$3)/J$3,0) —ROUNDDOWN(MOD($C4,J$3)/K$3,0) —ROUNDDOWN (MOD($C4,K$3)/L$3,0)
5 |=ROUNDDOWN(MOD($C5,G$3)/H$3,0) —ROUNDDOWN (MOD($C5,H$3)/1$3,0) —ROUNDDOWN(MOD($C5,1$3)/J$3,0) —ROUNDDOWN(MOD($C5,J$3)/K$3,0) —ROUNDDOWN (MOD($C5,K$3)/L$3,0)
6 |[=ROUNDDOWN(MOD($C6,G$3)/H$3,0) —ROUNDDOWN (MOD($C6,H$3)/1$3,0) ~ROUNDDOWN(MOD($C6,1$3)/J$3,0) ~ROUNDDOWN(MOD($C6,J$3)/K$3,0) —ROUNDDOWN (MOD($C6,K$3)/L$3,0)
7 |=ROUNDDOWN(MOD($C7,G$3)/H$3,0) —ROUNDDOWN(MOD($C7,H$3)/1$3,0) —ROUNDDOWN (MOD($C7,1$3)/1$3,0) —ROUNDDOWN (MOD($C7,J$3)/K$3,0) —ROUNDDOWN(MOD($C7,K$3)/L$3,0)
8 |[=ROUNDDOWN(MOD($C8,G$3)/H$3,0) —ROUNDDOWN (MOD($C8,H$3)/1$3,0) ~ROUNDDOWN(MOD($C8,1$3)/J$3,0) ~ROUNDDOWN(MOD($C8,J$3)/K$3,0) —ROUNDDOWN (MOD($C8,K$3)/L$3,0)
9 |[=ROUNDDOWN(MOD($C9,G$3)/H$3,0) —ROUNDDOWN (MOD($C9,H$3)/1$3,0) —ROUNDDOWN(MOD($C9,1$3)/J$3,0) —ROUNDDOWN(MOD($C9,J$3)/K$3,0) —ROUNDDOWN (MOD($C9,K$3)/L$3,0)
10 [=SUM(H4:H9) =SUM(14:19) =SUM(J4:9) =SUM(K4:K9) —SUM(L4:L9)
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12 |=H10*H3 |=110*13 |=J10%3 |=K10*K3 [=L10%L3
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